
Mth101: Practice Questions For 

Lecture 29, 30 and 31 
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Question 2: 

Express the area of the region below the line7� + 2� = 25, above x-axis and between the lines 
�	 = 0, �	 = 	4 as a definite integral. Also express this integral as a limit of the Riemann Sum. 
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Question 3: 



Evaluate the integral
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Question 4: 

Evaluate the definite integral( )
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Question5: 

Evaluate the integral 
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x x+∫  by using proper substitution. 
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Question 6: 

Use the Substitution method to express the following definite integrals in terms of the variable ‘
u ’ but do not evaluate the integrals. 
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